
 

4/18/2023 www.lankota.com   |   Lankota Inc. Page | 1 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

LANAB21377 

Installation Instructions 
Railing for JD F4365 & 800R Nutrient Applicators 

270 West Park Avenue 

Huron, SD  57350 

866-526-5682 



 

4/18/2023 www.lankota.com   |   Lankota Inc. Page | 2 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Parts List 

Part Numbers Description Qty 
LANAKK20834 Railing Weldment 1 
LANAKK20835 F4365 Bolt-on End 1 
LANAKK20836 800R Bolt-on End 1 
REDB308 3/8” x 2” Hex Bolt 2 
LANFWS53 3/8” SAE Washer 2 
LANFNW7G 3/8” Flange Nyloc Nut 2 

LANAKK20834 (1) LANAKK20835 (1) LANAKK20836 (1) 

REDB308 (2)  

LANFWS53 (2) LANFNW7G (2) 



 

4/18/2023 www.lankota.com   |   Lankota Inc. Page | 3 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 1 

Refer to Figures 

1. Remove the factory railing from the machine. Keep the 
hardware for reinstallation. 

2. Attach the appropriate end to the center leg with the 3/8” 
hardware provided, but leave loose. 

• For F4365 applicators: use LANAKK20835 

• For 800R applicators: use LANAKK20836 

3. Set the railing into the outer mount slots and use the 
original hardware to fasten in place. 

4. Tighten the original hardware and then the 3/8” bolts. 

Figure 2 

For further technical assistance, 

Call Lankota Inc. at: 

1-866-526-5682 


